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UNIT 8 LESSON 7

DO NOW: The graph of the function f1x) = ¢x* + bx+¢ is given below. Could the factors of x) be (x + 2) and

(x~3)? Based on the graph, explain why or why ro. . _{(‘X) o
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AIM: COMPLETING THE SQUARE (a = 1) (Day 2)

1. Find the exact roots of x* + 10x - § =0 by completing the square. b —_ \/ & \ 9} Q‘b
L -

T | +8+g —_ a
VAT — 0 ~(51%p
T X ok =2 ‘a"'@’;

O rox+ 235 -%+3 S5
<>< +5> (%4‘5\ e Y
&&-\-5\? :\33

Y 4+ G = 1D
- S - S
K= -SEY™

—5 4\ > =. /¢

MS - 5;33 ::_,- ] Q .—7L" Simplest radical form “5
Decimal form "! O . 7

b

i+

\_i A
A




2. Solve the equation 5° - 6% = 15 by completing the square, b-value
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3. Which step can be used when solving x° - 6x—25=0 by completing the square?

@c";-ax+9=25+9 135 b-value

2} x*—6x~-9=25-9
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3) 2*-6x+36=25+36

4} x* - 6x—36= 25— 36



4. When solving the equation x* — 8x~7=0 by completing the square, Wthh equation is a step in the
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5. Ifx*+2=16x is solved by completing the square, an intermediate step would be - (5 \'3
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6. Ifx’ = 12x~7 is solved by completing the square, one of the steps in the process is b VO ( U Q @
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7. Find the exact roots of x* — 4x — 9 = 0 by completing the square

5 - b-values
XS~ X =9 ——% e\
X* 4 4 =9 +49
(< (X Q) =
K=" =D
% - =TI\
I ¥a

Y — ATV

S+HUD = 5.6

QA—-Ir> =-1. Gl s

Decimal form =™ l 06/ 4

if)l

§)

oCSI




